30

10

300

|1

Yo}

[Te)

o

- &)

Loj; f

[a2)
230 j
236

S2H4—)L300 HEER 1
X1k
TmE
FEM
998(499)

"

Vv

300

a—7F+—H
299
0 213 50
I 3

—F
® 3
o~ N
—=r

J_oay
©

300

299
L 293
o |
5
|
\
\
© \
o |
N \
|
\
| \
©
Hh
T4 —)L300
%, *
& % B #&(1/10
= = & R|[(A4)
M &

#hAsH -7




30

10

500

|1

Lo

Lo

(3]

o

= 459

mj; ]

[a]
230 |
236

S=H4—)L500 HER 1
X1k
TmE
EEE
998 (499)

r

Vv

500

500

a—7F+—H
299
6 (30 213 .50
0 b
—
e =
o~ N
—=r
J_oay
©
299
~ 293
T
\
\
\
\
\
|
\
©
|
\
\
\
\
|
|
| \
©
% 5
== —JL500
pa DA
V3 1% B #E|1/10
=2 = H R|[(A4)
K #
H#hAst £A—a 4




1800

SO — ILBEEE T (5)
BE R 2 4 i T (451)

200

300

100

200 200 200 200 200

200

(S=1/10 A3)
2100
300 300 300 300 300 300 300 348
NAN NS\
NN S\ \\\\\’

T
RETSSSES




